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. — . ﬂ- — .
(1—27Tr).27r7'——7r+4.7r+4—4.7r

(4] u=22%24+¢% £B<.
r+y=24&0, y=2—-2
ZZT, yz2 0705, 2—220
WzIZ, <2

L7225 T,
u=21*+ (2 —1)?
=32 —4dx+4

_ _ 2. 8 - 73 < g <
_3@ 3)+3 (72751, 0< 2 <2)
FOT7S750,
r=20DLE u=8 TIHA.
COLE y=2-2=0

[
[N}

xz%@k%, uz%“@ﬂ%d\ ) ' : x
- _o_2_ 4

ZoLE, y=2 3= 3

Lo,

= . = . 8 2 4

BAM 8 (2= 2, y=0DLE), RME:S (wzg,y=§o>tg)



78 24xkE@H#H (4) —2KREHOBK - R/ —
i)z

(1] (1) f(z) = 2® — 2ax + 4a
=(r—a)®—ad®+4a

FoT, z=aDb &, f(z)d3/Mi —a®+4a L5,

..m:_a2+4a(az:a®<\_’_%) m
(2) m = —a®+ 4a
:—(a2—4a)
=—{(a—2)* -4}
=—(a—2)?+4 o

A

m DT T TIITERDEHIZREDT,
a=2ND¢tE mIIFEKE4A4%RED
(2] (1) y =22 + 2px + 4p
= (z+p)* = p* +4p
LoT, 2=—pDl & wME-pP’+4prl .
~m=-—p’+dp (z=-pODEE)
(2) m=—p° +4p
= —(p* —4p)

= {271}
=—(p—2)72+4 o)

af ‘

mDTITIIERDOEHIIRE. Lo,
p=20ND¢E, mIIRKEAT LS.
(3] (1) y = —22°% 4 4kx + k? — 3k
= —2(2* — 2kx) + k* — 3k
=-2{(x—k)> - K’} + k* - 3k
= —2(x—k)? +2k* + k* - 3k
= —2(z —k)* + 3k* - 3k
LoT, o=kl &, yldWmAME32 -3k %L 5.
gk)=3k>—3k (zr=kDEZ)



[4] (1)

g(k)

=3(k* — k)
“o{(e-3) -4}
=3(-3)" -4

g(k) D7 I 7EEHD L)% 5.
;of,kzéaw%,EM@—%%
L5,
y = (2* —22)* + 6(2* — 22) + 10
ZZTC, 2 —2x=t ---@ LB,
y=t>+6t+10 ---@
Ehn. O&D
t=a2 2= (r—1)2-1
INEY, tOEHIE, t2>2 -1 -3
K2, @FFHTEHRLT
y=t>+6t+10=(t+3)>+1
Lo, Al L, BME 5 (t= 1)
t=—-1%OIMALT

2

x®—2xr=-1
22 —24+1=0
(x—1)*= =1

L7edisT, BIME B (z=1DEX)
y=—(2> - 22 +2)?> +6(z* —22+2)+ 1
ZIT, 22 —2z+2=t---Q LB,
y=—t>+6t+1---@
Eh. W&
t=a-20+2=(z—1)*+1
INEY, toBEIEX t>21 -0
KIZ@% PR L T
y=—t>4+6t+1=—(t—3)>+10
LoT, wmAME 10 (t=3)
t=3 xOIZRKALT
22 -2 +2=3
r=1+2
L7225 T, RAE 10 (x =1+ V20 E¥)
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3)

y=—(2>—da+1)2+22° — 82— 1= —(2® — 4o +1)* +2(2® — 4z + 1)

EERTEL, Z2T, 22 —da+1l=t ---QEBE,
y=—-t"+2t-3---@
Enb. &Y
t=a?—4x+1=(z—-2)* -
SREY oL, —3<t<1 -0
IZ@% FH5Em LT
y=—t2+2t—-3=—(t—1)> -2
LXoT, WA -2 (t=1), &/IMH: - 18 (t = -3)
t=1%QITRALT
2 —dr+1=1
z(x—4)=0 =0, 4
05z<34&D, z=0
FEIZL T, t=-3%OITfRALT
2 —dr+1=-3
2 —4dx+4=0 Lr=2
05z<3 &Y, =2
L7255 T, RAME: -2 (xz =0), &/IME: — 18 (z = 2)
f(x)za(x2—|—2x—|—2)2—|—2a(x2—|—2x—|—2)—|—b
ZIT, 2?2 42c4+2=t.---@ E&BL L,
gt) =at* +2at +b ---@
EBUTL OLY
t=a4+2r+2=(z+1)*+1
&Y, toZEiR t>21 -0
IZ@% FhH5Em LT
g(t)zat2—|—2at—|—b=a(t—|—1)2—a—|—b
@OFFTOEEZ L L, T/ME6EZLDODT a>0
F72, WAME 1 g(1)=3a+b=6 ---@

fO)=11&0, 2=0D&E, t=0>4+2-042=27%DT,

g(2)=a-2*+2a-2+b
=8a+b=11 ---©

@, ®LY
3a+b=26
8a+b=11

£o7T, a=1,b=3
a>0&0, &MERZTDOT, a=1,b=3
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y=2%—2ax+4
=(r—a)?—-a’+4

(5] (1)
Y, TIM% 7 7T, HAWE (6, —a®+4) TH 5.
(i) a<0DEZ i) 0Za<1 DL X (iii) a =21 D& &
‘\ v 3,’ ‘\ v 3 /I y : !
\\ \\ / 4 ,’l
\\\ 4 \\\ 3/// II
\\ // 4\:/;( /I
7 .
O 1\ 3 // T
aol 17 ol a1 7 :
| | /M 2 =1 Dk
BMEE 2 =008 MR s =a Dk E';J fiitd @
- - =12—-2a-1+4
y=02-2-a-0+4 y=a’—-2a-a+4 v “
5 =—-2a+5
= =—a*+4
PEXD,
a<0nNEE, 4 (z=0n&%)
0Za<1DEE, —a?’+4 (x=aDEZ)
1<adt%, —2a+5 (z=1D&Z)
(2) y = 22° 4 2azx +a
2 2
— ay _a
_2(x+2> 9 +a
a a?
4 0) e

t&D,TK&&7?7&®T,Eﬁ@<—

4-4



() 5 <-103, (i) -1 -G <10ks,

2FDa>20k X DFN 2<al20k X
L F TN
1 ; _a 1 T
. 3l
R oMl = -2 DL X
\\L?O 1 x
! ] y:_a_2+a
Ml z=-1DE & 2
y=2-(-1)*+2a-(-1)+a
=—a+2

mn—%g1®t§,oiba§—2®t§
-

Vi 1 [
‘ ‘ |
| : |
| ‘
‘ ‘ )

' I
3 3 i
h ] !
i 1 |
i _a I
Ao =5 |
i 7

—1§ L / z

wMHEIE z =10k X
y=2-1>4+2a-14a

=3a+2
EXD,
a>2NEE, —a+2 (r=—-10¢%)
2
—2<a§20)t%,—a7+a <m=—%o>aae>
al -2DEE, 3a+2 (r=1D&%)
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y = —2? + dax

(3)
= —(z—2a)® +4a®

L, RichAas T 7T, TS (2a, 4a2) TH 5.
(i) 0S2a<2 DL X,
2%V 0<Za<1 D

(i) 2a<0DEZ,

2FD a< 0 DL X
y

L X
y

2a

(z=0MD¢& %)
(x =2a D& X)
(r=20&%)

L x
y = 4a*

Az =00k &

y=-0>+4a-0

=0
P&,

a<0DE%E, 0

05a<1DEZE, 4a?

1<adt¥, 8a — 4
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(iii) 2a 22 D& &,
2Fhaz21 0L X

§2a z

ATz =20k %
y=—2%4+4a-2
=8a—4



(4) y =%+ 2ar+3
=(x+a)?—a®+3

L, FILMAY T 7T, M (—a, —a®+3) ThD
X —1< 2 <3 0EAFI,

2
(i) —a<1D&E 2FDa>-1?D (i) —a21DEE, 2FDas-1D
L& L X

wEAEIE z=3 DL X

y=3>+2a-3+3

R z=—-1 DL X
=6a + 12

y=(-1)>+2a-(-1)+3
=—2a+4
Plk&y,

{-1<a®t&6w+m

(x =3D¢& %)
asl—-10D&EE, —2a+4

(r=—-10&Z%)
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[6] (1) flx) =2 —6z+11=(z—3)>+2

EoT, flz) 3TFICN%Z T 7T, THAE (3, 2) THAD.
RAMED 2 DT, /MEIZ 2 =3 DL EIZLS.
$oT, a23ThH5s.
RAME 11 %2 DT
2? — 6z +11 =11
22— 6x=0
z(x—6)=0
=0, 6

2=0,6Tll 2BV bnrs.
r=0CHRAfE1Ll, x=3 TR/ME2ZE5121E, 3Za<6

=6 ClwRAM1l, z=3 TR/ME2%Z L5121, a=6
o7, 35a<6

(2) y=—-a+2r+1=—(x—1)2+2

roT, R s 97T, AR (1, 2) THb.

(i) 0<a<lDkZ, i) 1Sa<20Dt &
U 3

] \ ' ] \

RAEZ z2=a DEE —a®+2a+1 RAEEZz=1DL X2

/MBI 2 =0 D& X 1 /AMEIZ 2 =0 D& X1
(iii) a=2 D& X (iv) a>2 DL X

Yy 1 Yy

BREZz=1DEE 2 BREZz=1DEE 2

MEIZ 2 =0, 2D E 1 MEIZ 2 =a DEE —a?+2a+1

PiELY, Rl

0<a<l1l1nDEE, —a’4+2a+1 (x=aD& &)
1<adE®, 2 (x=1DEX)
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/MiELR

0<a<2D&®E, 1
a=20D&%E, 1

2<aNEE, —a?+2a+1

(3) y=a>+2x+2=(x+1)?+1

(x=0MD¢t %)
(x=0,20E %)
(x=aD&%)

L£oT, TiM%r7 77T, HAIX (-1, 1) THA.

(i) 3<a<-10DLZ
IS S T

mRETZz=-3DL X5

MElZz=a DL E a®?+2a+2

(i) a=1 D& &

\

PiELY, Rl

—3<a<1D&E®, 5
a=1D&ZE, 5

1<aD&ZE, a’>+2a+2

/MBS

(i) —-1Sa<1D&Z
\ vy o)

1 )
: ‘ a
—31 -1 |0 | =

RAKEZz=a DL E a®>+2a+2
MElZz=—-1DE&E 1

—3<a<—-10&EE, a?+2a+2 (z=aD&EZ)

{—1§ao>t%, 1

(z=—-1D¢ %)



1 (1) f@)=a®-2%=(e-12-1

Lz, TR 7 77T, TEMIE (1, —1) TH 5.

(i) at+l1<1 (i) a<1Za+1, (iii) a =1 D& &
Oiba<0@t§ OiV)O§a<10) yx:(‘l x‘:a-}-l
& \ L
r=a x=a+1 ‘\ | 1,’
] I r=a z=a+1 \ -
\ | ,’ \\ yi i I: \\ i 3’/
Il ‘\\ 3 /ll \\ 1/
’I \\ 3 /I O\\ : /: z
‘ ‘ 1 /’ \\ i / —1*\:"3 :
: N 3 // (E O‘ }: // | ]
1 Nl N x
el 1IN m(a) = f(a)
m(a) = fla+1) =a*-2a
(a4 12—20a+1) M) =F1)=-1
=a’-1
a’?—-1 (a<0)
PEEY  me)={ -1 0<a<1)
a?—2a (1=Za)
(2) f2)= -2 +40=—(2—-2)?+4

b, RISNAR TS 7T, TAMIE (2, 4) THD.

(i) a+2<2 (i) a<2Za+2 (iii) a =22 D& &
DFN a<0DEE 2FN 0Za<2D r=a xz=a+2
r=a x=a+2 Y i :

Y
B -
\\ IO§ 2 v T
K M() :f(2): 4‘ =—a’+4a
a) = =
M (a)
=f(a+2)
=—(a+2)*+4(a+2)
=—a’>+4



—a’+4 (a<0)
V) M(a) =<4 0<a<?2)
—a?+4a (2=<a)
(3) flz)= -2 4+22+2=—(z—-1)>+3

b, RIS T 7T, THEIE (1, 3) TH5.
a—1Zz<a DEAWIT, (a—;)—i—a = 2a2—1

(i) 2“—2_1<1oi0, a<%®<‘:§ (ii) L;lzloiba:%@gg

r=a—1 x=a r=a—1 Tr=a
PYN Yy
P2 \ 1oa) N
ol 1 \‘\ T 1O T \‘\ T
/i Y // ;\%‘\
_ _ 3
m(a) = fla—1) m(a) = f o>
——(a—l)2 312
+2(a—-1)+2 __(5)
=—a’+4a—1 +2.<%)+2
_
4

(111)2“72_1>10i0 a>%®t§

r=a—1 z=a

TN W
N\
i
/

m(a) = f(a)
=—a’>+2a+2
—a? +4a—1 (a<%>
PLERY  m(a) =4 4L (a=3)
—a®+2a+2 (%<a)
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£oT, y=m(a) DT T TIERDEH 2% 5,

(4) f(x) =22 —dz+3=2(x—-1)>+1
Lz, TR Z7T7C, TEMIE (1, 1) THA.
alzZa+1 DEAWIT, at(atl) = 2a2—|—1

2
(i) 2a2+1<1’3i0a<%0)<‘:§ (ii)L;lzl’JiV)a:%ODt%
m:? =a+1 \ :Ey=a ‘:E:a—l—l'

N /// 3 '\ ’/
1 ,,>T 2
O 1 x a1 T
1
M(a) = f(a) M(a) = ()
=92a%> —4a+3 112 1
=2 (g) 4y +3



(iii)L;l>loiV) a>%@<‘2§

rT=a r=a+1
] 1 !

2a% — 4a + 3 a<%
BEED Ma)={ 3 a=
2a? +1 %<a




iAnHIERRE

[1] t=a?+624+6 B &,

t=(r+3)*-3

7272L, 5<x< -1 4k, =35t
y = (2% + 62 + 6)* + 82% + 48z + 50
= (2 + 62 +6)% + 8(2% + 62+ 6) + 2
=1"+8t+2
=(t+4)* - 14

DTI71F, AORDOLEHIZ -3St<12B

WCHRENT 220 t=10¢E, y=11

THK.

ZDEE, r=-5 -1

t=-30t %, y=-13 T/

ZDEE, r=-3

L7275 T, Yy
RAfE 11 (z=-5, —1DEX)
RME 1 —13 (z = -3 DEX)

11}
-3 2/
21 (1) f)=a®+2p0+2p+3 VT 01
=(z+p)’-p*+2p+3 \
LoT, 2=—pDEEHTNERDY N P
m=—-p>+2p+3 SOl 13

—14

(2 m=—@p*-2p)+3
=—-(p-1°+4
L0, mORKEL 4(p=1DEZ)



(0<z<2]

(i) I1<a<2Dl &

OAfEIX £(0)=0
B/MEN f(2) =4 — 4a
(iii) a =1 D& &

r=a=1
RARMEE £(0)=f(2)=0 WA f(2) =4 — 4a
B/MER fla) = f(1) = -1 B/MER fa) = —a®
(v) aL0Dk X )~) &b, mAMHEI,
{0 (1<anE®)
4—4a (a<1DEZ)

T 7o/ MER,
4—4a (2=5adeER)
—a? 0<a<2DEX)
0 (a=0DEX)

ARMENE f(2) =4 — 4a
/MBI £(0)=0



4] f(x)=2* 42 +5=(r-2)*+1 [(0Zz=Zal
(i) 0<as2DbZ (i) 2<a<4 DX
Y Y

(iil) a=4 DL & (iv) d<a Dl &
M(a) =f(0) = f(4) =5
m(a) =f(2) =1

(i)~ (iv) £V
s (0<a<4anEx)
M(a)_{(a—Z)z—l—l (A<ad%)
(a) = (a—2)241 (0<as2D&X)
A B (2<ahtx)



